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QUESTION 1

A customer reports that the load balancing solution is not working for two Cisco Unified Border Element routers. The
(cube1.abc.com) router should take 60% of the calls, and the (cube2.abc.com) router should take 40% of the calls.
Assuming all DNS A records are present, which two SRV configurations would provide the desired outcome? (Choose
two.) 

A. _sip_udp.abc.com 60 IN SRV 60 1 5060 cube1.abc.com 

B. _sip_udp.abc.com 60 IN SRV 1 40 5060 cube2.abc.com 

C. _sip_udp.abc.com 60 IN SRV 3 60 5060 cube2.abc.com 

D. _sip_udp.abc.com 60 IN SRV 2 60 6060 cube1.abc.com 

E. _sip_udp.abc.com 60 IN SRV 1 60 5060 cube1.abc.com 

Correct Answer: BE 

 

 

QUESTION 2

When setting a new primary DNS server in the Cisco UCM CLI what is required for the change to take affect? 

A. restart of CallManager service 

B. restart of DirSync service 

C. restart of the network service 

D. restart of TFTP service 

Correct Answer: C 

You don\\'t have to restart the call manager service. Actually according to this guide (read at the bottom) you don\\'t
have to restart anything, it restarts network services for you. https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/cuc
m/admin/12_5_1SU1/adminGd/cucm_b_administration-guide-1251SU1/cucm_b_test-
adminguide_chapter_011110.html 

 

QUESTION 3

DRAG DROP

Drag and drop the SNMPv3 message types from the left onto the corresponding definitions on the right.

Select and Place:
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Correct Answer:

 

QUESTION 4

Which set of QoS commands must be configured on an interface of a catalyst switch so the ingress traffic can be trusted
for a desk phone? 

A. Switch(config)# interface gigabitethernet2/0/1 Switch(config-if)# qos trust device desk-phone 

B. Switch(config)# interface gigabitethernet2/0/1 Switch(config-if)# qos mis trust device cisco-phone 

C. Switch(config)# interface gigabitethernet2/0/1 Switch(config-if)# mis trust qos device desk-phone 

D. Switch(config)# interface gigabitethernet2/0/1 Switch(config-if)# mis qos trust device cisco-phone 

Correct Answer: A 

 

QUESTION 5
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When designing the capacity for a Cisco UCM 12.x cluster, an engineer must decide which VMware template will be
used for each node. What is the lowest number of users supported in a template and the highest number of users in a
template? 

A. 750 and 15.000 users 

B. 750 and 10.000 users 

C. 500 and 10.000 users 

D. 1000 and 10.000 users 

Correct Answer: D 

For Cisco Collaboration System Release (CSR) 12. x , the Unified CM deployments require all virtual nodes to increase
their vRAM by 2 GB of memory for the following VM configuration templates:

 1,000 users 

–

 2 vCPU 

–

 6 GB vRAM 

–

 80 GB vDisk

 2,500 users 

–

 4 vCPU 

–

 6 GB vRAM 

–

 80 GB vDisk

 7,500 users 

–

 2 vCPU 

–

 8 GB vRAM 

–
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 110 GB vDisk

 10,000 users 

–

 4 vCPU 

–

 8 GB vRAM 

–

 110 GB vDisk 

 

QUESTION 6

An engineer is configuring a PRI card on a Cisco ISR 4300 Series Router. When the engineer configures the voice PRI
on the router, this error is received: "T1 0/1/0: No DSP resources to configure voice feature". Which action must the
engineer take to resolve the issue if a PVDM card was installed in the motherboard? 

A. Install the NIM card on a different slot. 

B. Replace the memory slot in the motherboard. 

C. Replace the flashcard, restart the router, and try it again. 

D. Install the PVDM directly to the NIM card. 

Correct Answer: D 

 

QUESTION 7

An engineer builds this configuration on a Cisco IOS gateway for fax dial-peers: 

Which command is required to complete the configuration? 

A. Codec g726r32 

B. Codec g729cr81 

C. Codec g723ar63 
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D. Codec g711ulaw 

Correct Answer: D 

Reference:
https://www.cisco.com/c/dam/en/us/td/docs/ios/voice/dialpeer/configuration/guide/xe_3s/vd_dp_se_3s_book.pdf 

 

QUESTION 8

An administrator recently upgraded a Cisco Webex DX80 through its web interface but discovered the next morning that
the unit has received to its previous version. What must the administrator do to prevent this from happening again? 

A. Assign a phone security profile with secure SIP. 

B. Set the prepare cluster for rollback to pre-8-0 enterprise parameter to true. 

C. Confirm the phone load name in the phone configuration. 

D. Assign a universal device template to the phone. 

Correct Answer: C 

 

QUESTION 9

What is the maximum number of servers that are in an IM and Presence presence redundancy group? 

A. 10 

B. 6 

C. 2 

D. 4 

Correct Answer: C 

A presence redundancy group is comprised of two IM and Presence Service nodes from the same cluster. Each node in
the presence redundancy group monitors the status, or heartbeat, of the peer node. You can configure a presence
redundancy group to provide both redundancy and recovery for IM and Presence Service clients and applications. 

Reference: https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/cucm/im_presence/configAdminGuide/11_5_1/cup0_
b_config-and-admin-guide-1151su5/cup0_b_imp-system-configuration-1151su5_chapter_0100.html 

 

QUESTION 10

Which configuration step is necessary for a Cisco SIP phone to synchronize its time with a specific source? 

A. Add a Phone NTP Reference to the Date/Time Group. 

B. Assign the device to the correct region. 
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C. Change the Time Format from 24-hour to 12-hour. 

D. Change the Time Zone from "America/Los_Angeles" to "Etc/GMT+8". 

Correct Answer: A 

Anything other than A is a situational preference, or just plain wrong. 

If you\\'re in the east coast of the US, why would it be a requirement to set your time zone to LA? 

It doesn\\'t matter whether you\\'re using 12 or 24 hour format. 

Assigning a device to a region doesn\\'t change the time source for that device - if anything that\\'s handled by Device
Mobility. 

-

The only sensible solution is to add the Phone NTP source to the Date/Time group. 

Reference: https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/cucm/admin/10_0_1/ccmcfg/CUCM_BK_C95ABA82
_00_admin-guide-100/CUCM_BK_C95ABA82_00_admin-guide-100_chapter_0110.html 

 

QUESTION 11

Refer to the exhibit. 
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A collaboration engineer configures Cisco UCM to act as a DHCP server. What must be done next to configure the
DHCP server? 

A. Restart the TFTP service under Cisco Unified Serviceability. 

B. Add a DHCP subnet to the DHCP server under Cisco UCM Administration. 

C. Add the new DHCP server to the primary DNS server. 

D. Restart the Cisco DHCP Monitor Service under Cisco Unified Serviceability. 

Correct Answer: B 

After "DHCP Server" configuration, the "DHCP Subnet" should be configured. 
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QUESTION 12

What are two characteristics of QoS Traffic shaping? (Choose two.) 

A. When the traffic rate equals the configured maximum rate, excess traffic is remarked. 

B. When the traffic rate equals the configured maximum rate, excess traffic is dropped. 

C. Traffic shaping queues excess packets. 

D. Traffic shaping can be applied to inbound traffic on an interface. 

E. Traffic shaping can be applied to outbound traffic on an interface. 

Correct Answer: CE 

Reference: https://www.cisco.com/c/en/us/support/docs/quality-of-service-qos/qos-policing/19645-policevsshape.html 

 

QUESTION 13

Which type of dial plan implements destinations by using a format that is similar to email addresses? 

A. URI 

B. H.323 

C. DNS 

D. E.164 

Correct Answer: A 
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